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CLASS: VIII 

SUBJECT: MATHEMATICS (041) 

ANSWER KEY OF ASSIGNMENT 2 

CHAPTER: DATA HANDLING AND COMPARING QUANTITIES 

Sol. 5 Tax paid = Rs. (16100 – 14000) 

                          = Rs. 2100 

Rate of tax = 
𝑇𝑎𝑥

𝐿𝑖𝑠𝑡 𝑝𝑟𝑖𝑐𝑒
 x 100 

                    = 
2100

14000
 x 100 

                    = 15% 

Sol. 6 Amt. = P (1 + 
𝑟

100
)n  

P = 12000, R = 5% p.a., T = 3 years 

Sol.8 Probability = 
𝑁𝑜.𝑜𝑓 𝑓𝑎𝑣𝑜𝑢𝑟𝑎𝑏𝑙𝑒 𝑜𝑢𝑡𝑐𝑜𝑚𝑒𝑠

𝑇𝑜𝑡𝑎𝑙 𝑛𝑜.𝑜𝑓 𝑜𝑢𝑡𝑐𝑜𝑚𝑒𝑠
 

a) No. of face cards = 12 

Probability of face cards = 
12

52
 = 

3

13
 

b) No. non-face cards = 52 – 12 = 40 

Probability of non-face cards = 
40

52
 = 

10

13
 

c) No. of black cards = No. of spades + No. of clubs 

                                     = 13 + 13 = 26 

Probability of black cards = 
26

52
 = 

1

2
 

d) No. of non-ace cards = 52 – 4 = 48 

Probability of non-ace cards = 
48

52
 = 

12

13
 

 


